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Time : 3Hrs.

Full Marks   : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 6  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.

P.T.O

Sem. IV - TE

Fab. Str. & Dgn-7 

Explain construction procedure of satin/sateen 
design with example. 

example. 

the pointed twill weave ? Explain with example. 

What are the characteristics of ordinary honeycomb.
weaves ? Construct a ordinary honeycomb design 
on 8 ends and 8 picks.

8.

OR( )

6

9.

6

OR( )
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1. Choose the most suitable answer from the following

options :1x20=20

P.T.O

(ii)

(i)Minimum number of warp and weft 

threads for a given weave shows the size 

of 

(a) Loom

(b) Fabric

(c) Repeat 

(d) None of these

design is : 

(a) 2

(b) 3

(c) 4

(d) 5

(i)

7.

Answer all Five Questions. 
6x5=30

Describe the basic elements of a woven design 
with suitable example. 

Construct the design on graph paper from given 
drafts and lifting plan : 
          Draft : 1,2, 3, 4, 3, 2
Lifting plan : 
          1st heald raised on the picks : 4
          2nd heald raised on the picks : 3, 5
          3rd heald raised on the picks : 2, 4, 6
          4th heald raised on the picks : 1, 3, 4, 5

OR()

6
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P.T.O

(iii)

(iii)

(iv)

(ii)

The space between two horizontal line in a
draft represents :
(a) Reed
(b) Warp
(c) Weft
(d) Healdshaft

heald shafts is about half the repeat size of 
the weave ?
(a) Straight draft 
(b) Skip draft
(c) Pointed draft
(d) Divided draft

What do you mean by Bedford cords? 
Classify them. 

the design of a perforated fabric with 10 ends 
and 6 picks. 

Write in short. 

5.

OR( )

4

OR( )

4

6.
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P.T.O

(v)

(v)

(vi)

(iv)

Which weave is the strongest in similar 
conditions ? 
(a) Plain 
(b) Twill 
(c) Satin
(d) Fancy 

direction which type of design is formed ?
(a) Warp rib
(b) Weft rib
(c) Mat rib
(d) None of these

Explain zig-zag or wavy twill along with design. 

design. 

Give mathematical expression for this. 

4.

OR()

4

3.

OR()

4
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P.T.O

(vii)

(vii)

(vi)

2/3 twill is a :

(a) Warp faced cloth 

(b) Weft faced cloth

(c) Balanced twill

(d) Harringbone twill

required for twill design is

(a) 2

(b) 3

(c) 4

(d) 5

(xx)

Answer all Five Questions. 

2.

4x5 =20

4Explain skip draft with suitable example. 

regular and irregular mat weave. 

OR( )

(viii)
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P.T.O

(ix)

(ix)

(viii)

(a) One upward one outward

(b) One upward and two outward

(c) One upward and four outward

(d) Two upward and two outward

constructed on 

(a) 4 threads

(b) 6 threads

(c) Both (a) and (b)

(d) None of these

(xix)

(xix)

Brewester circle is divided into how many 
equal parts ?
(a) 8
(b) 12
(c) 18
(d) 24

never be more than : 
(a) 20
(b) 24
(c) 28
(d) 30

(xviii)

(x)(xx)
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P.T.O

(xi)

(xi)

(a) The weave is lighter than plain weave

(b) The weave is lighter than twill weave

(c) The weave is heavier than twill weave

(d) None of these

(a) Vertical axis

(b) Horizontal axis

(c) Diagonal axis

(d) None of these

(xvii)

(xvii)

According to pigment theory of colors, which

one is not a primary colour ?

(a) Red

(b) Green 

(c) Blue 

(d) Yellow

one is primary colour ? 

(b) Orange 

(c) Purple 

(d) Yellow 

(x)(xvi)

(xii)(xviii)
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P.T.O

(xiv)

(xiii)

(xiii)

Diamond design mostly produced from. 

(a) Straight draft

(b) Sateen draft

(c) Pointed draft

(d) None of these

on

(a) Only one side 

(b) Both sides

(c) Middle side

(d) None of these

Crepe weaves can be constructed on the 

basis of 

(a) Plain weave

(b) Twill weave

(c) Satin weave

(d) Sateen weave

(a) Shirting cloth 

(b) Suiting cloth

(c) Toweling cloth

(d) None of these

(xii)(xiv)

(xv)

(xv)

(xvi)
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6

10.

OR( )

6
cord weave on 16 ends and 4 picks. 

    

upon sateen base on 8 ends and 8 picks. 

11.

P.T.O

6

10.

OR( )

6
cord weave on 16 ends and 4 picks. 

    

upon sateen base on 8 ends and 8 picks. 

11.

P.T.O
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Define cover factor. Derive an expression for warp
and weft cover factor. 

***

OR()

Define cover factor. Derive an expression for warp
and weft cover factor. 

***

OR()

N4092 N4092
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